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First Exercise (10points)
Soya
Questions Answer mark
11 The plant foods are poor in saturated fats and rich in fibers and micronutrients
1
1.2 People with lactose intolerance, can use soya in their diet since it is lactose-free food. 1
2.1 The general formula of an a-amino acid is:
R - CH - COOH 1
|
NH,
2.2 Catabolism is represented by:transformation 1 and transformation 3 1.5
Anabolism is represented by: transformation 2
2.3 Two products of this reaction:water and carbon dioxide. 1
3 The mass of fats is18/2=9¢ 1.5
The energy value is: 9 x 9 = 81 Kcal
4 The presenceof water in soybeans justifies the presence of hydrosoluble vitamins. 1
The presenceof lipids in soybeans justifies the presence of liposoluble vitamins.
51 The macro minerals are: Caand Mg(daily need >100mg) 1
The trace minerals are: Fe and Zn.(daily need<20 mg)
5.2
mineral Role
Ca Forms and maintains both bones and teeth. 1
Mg Is essential to normal muscular contraction. (contributeto proteinsynthesis)
Fe Is a component of oxygen-carrying proteins.
Zn Is a part of insulin.




Second Exercise (10 points)

Meningitis
Questions Answer mark
1.1 The two symptoms of meningitis are: headaches, severe fever,(stiff neck)...
0.5
1.2 A broad-spectrum antibiotic is prescribed when the exact cause of meningitis is 0.5
unknown.
13 Type of meningitis Cause of infection
1.5
Bacterial meningitis Bacterial infection
Viral meningitis Viral infection
Fungal meningitis Fungal infection
2.1 Panadol is used in the case of viral meningitis since it reduces fever and relieve body | 0.75
aches
2.2 Maalox®: anti acid ,Valium®: tranquilizer and Penicillin G®: antibiotic 0.75
3.1 Aspirin and cortisone do not belong to the same group of anti-inflammatory drugs 1
since the first is a non-steroidal anti-inflammatory drug and the second is a steroidal
anti-inflammatory drug.
3.2 Two side effects of using cortisone are: fluid retention, unwanted hair, a moon face 1
appearance, and mental depression.
4.1 The use of a large spectrum antibiotic should be limited since these antibiotics can kill | 1
some beneficial bacteria.
4.2 Resistant bacteria are bacteria that can not anymore be eradicated by the antibiotic. 1
4.3
Four advantages of using a combination of antibiotics are:
- To treat mixed infection.
- To obtain a more intensive effect, and to limit the side effects. 2

- To prevent the emergence of resistant bacteria.
- In case of emergence, when the invading microorganism is unknown.
- (to permit the use of a lower dose of one of the antibiotics)
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